AH#H AU X

out

IN

GROSS

HDGP

NET

=2 B MHE BR 42 39 g1l 10.0 71.0
AR EIL —=E 3835 /3 1.0 72.0
3 B B’a‘)l 41 38 79 5.0 74.0
A0 IR AR 45 43 88 12.0 76.0
iz | KEr #FH 42 41 83 6.0 77.0
6fi |BEIR  ME— 43 43 86, 9.0 77.0
T3 #K  Z=Ef 41 46 8/ 10.0 177.0
84 ARBF FEH 43 42 85 7.0 78.0
O | X A1ER 43 47 90 12.0 78.0
106 Ek KRA 41 45 86 8.0 78.0
114 apE EA 44 36 80 1.0 79.0
1262 78T & 44 44 88 0.0 79.0
13z HH FA 38| 44 82 3.0 79.0
144 1E3 %ﬁb 44| 44 88 8.0 80.0
15461 & B3t 41| 50 91/ 10.0 81.0




A#I#x BYV TR

ouT

IN

GROSS

HDCP

NET

' B B 2 44 46 000 21.0 69.0
ZigH I K 46| 42 88 17.0 71.0
3‘LL s #EX 44/ 45 89 17.0 72.0
AL IR A 47 46 931 19.0 74.0
H{iL y NIBE 41t 52 43 95 20.0 75.0
6 ERKRK #B= 45 46 01 15.0 76.0
JEiva L_|2l: 5 48 540 102 26.0 76.0
86 /hMrH BT 49 54 103 26.0 /7.0
Ofr = i3] 47 46 93| 15.0 78.0
1052 Al BX 43 50 93| 14.0 79.0
112 1B FFxX 51 44 95 15.0 80.0
1252 TIER W 52 45 97/ 16.0 81.0
1350 ZH HHsA 55 49 104 22.0 82.0
1441 H FXx 49 48 97 15.0/ 82.0
15 #2788 M| 46 53 99 17.0 82.0




B#I#%# LT4—RX ouT  IN GROSS  HDCP NET

B B Ea =2 43 37 800 4.0] 76.0
£ iRk RSk 45 44 89 10.0' 79.0
6L = F 5 42 43 85/ 6.0 79.0
A X FE 51 530 1104 24.0 80.0
M B bEH 46/ 43 80 6.0 83.0
6fiL ™+ FIL 43 46 80 3.0 86.0




